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TNSTRUCTIONS.

; more than four questions may be attempted, fwo
(0 No must be selected from Section A and two selected
of these i B. Draw questions from Section A on one sheet
“gom S€Ct O ] questions fiom Section B on a separaie sheet.

A maximrm of fen marks will Le awarded for accuracy
Land neatness of arrangement.

() The numl
py the side of ea
| (d) Work on one side of the paper only. o
e ‘Examination Number must be distinctly marked on.
* qach sheet of drawing paper.

per of the question must be distinctly marked
ch answer.

"""""""

=

SECTION A.

-_ _l.lFi.g. 1 shows a pictorial view of a “ Display Stand.”
Draw the following views of the object to a scale kalf full
8126 \—

(@) A front elevation looking in the direction of the

arrow A.
(B) A side elevation looking in the direction of the
arrow B.

() A plan projected from the front elevation.

B
i

Zf ]})ifiﬁse;ﬁ four of the main dimensions and title your drawing
DISPLAY STAND ” in capitals 3" high.

4
[25 marks.]
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2. Fig. 2 represents the elevation and plan of a hexagonal
prism cut by a plane inclined at 30° to the horizontal. Make
a full size drawing of this elevation and plan, and then show

the following :(—

(a) Side elevation looking in the direction of the arrow
A.

(b) The true shape of the section cut by the inclined
plane.

Indicate by lettering-in on your plan and side elevation,

the position of the points O, N, B and D.
[25 marks.]

3. Fig. 3 is a pictorial view of an open tray with side lugs,
The sides are at right angles to the bottom, while one end is
inclined outwards at an angle of 120°, and the other end is part
of a cylinder. Draw full size the complete development of
the tray.

Neglect allowance for joints.

(Development of cylinder).
[25 marks.]

. 4, Make an Isometric drawing of the object shown in
ig. 4.

[25 marks].

SECTION B.

5. Fig. 5 represents part of the ornamental ironwork for
a gate. Make a scale of 3 inches to one foot, to read inches,
overall length two feet. Using this scale, reproduce the
drawing, showing the construction lines for at least one half.

(Tangents to circles).
' [20 marks.]

D'G. Reprodl'lce, full size, the moulding shown in Fig. 6.
La,w.by radial projection, an outline similar to this moulding,
reducing the height AB to 21 inches.

(Radiating lines.)
[20 marks.]
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7. Fig. 71s the face of a piece of timber the centre of which
i divided up into squares of contrasting hardwoods. The
lengths of d%agonals A, B and C of these squares are in the

. %) .
rﬂtio 1“' i

Make a full size drawing similar to the figure.

(Proportional division of lines).
[20 marks.]

8. Given that the diagonal AC of a rectangle ABCD is
31 inches long and the side AB 1% inches long, construct the
rectangle.

Measure and write down the length of the side BC and the
size of the angle BAC.

[20 marks.]
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